'GROUP 4 HYDRAULIC SYSTEM

1. HYDRAULIC COMPONENTS MOUNTING 1

Level gauge

Hyd tank

Swing motor

2

- Tightening torque

ltem Size kof - m Ibf - ft
1 |M6x1.0 1.44+0.3 104+2.2
2 |M8x125 25+05 18.1+3.6
3 |[M10x15 6.9 +14 49.9+10.1
4 |M12x1.75 12+1 86.8+7.2

Coupling

Main control valve

By

I &

<
)

B
5
£

Q

Main pump
housing

Terminal

Main pump

Solenoid

valve

7079CM05

ltem Size kof - m Ibf - ft
5 | M12x1.75| 12.8+3.0 92.6+21.7
6 | M14x20 14+1 101£7.2
7 | M16x2.0 25+2.5 181+18.1
8 | M16x2.0 29.6+3.2 214 +23.1




2. HYDRAULIC COMPONENTS MOUNTING 2

BOOM CYLINDER ARM CYLINDER

BUCKET CYLINDER DOZER CYLINDER
7079CM07
- Tightening torque
ltem Size kgf - m Ibf - ft ltem Size kgf - m Ibf - ft
1 | M8x1.25 27+03 19.6+22 3 |[M12x1.75 9.4+1 68+7.2
2 | M10x15 32+0.3 23.1+£22 4 |M14x2.0 15+1.5 108+10.8

9-7



